EARAROBEEIERT — 2 N— IBISH —F

2015558208 (k) 3EIA#3H

1R P T AT

‘ [R1%] & ‘ [REBB] — | & (&) 20000 B

[~E%] 1 7% 22,000,000 @ ~ 2 3#%:7,700,000 @ 3 7 :4,400,000 @

4 7% 12,200,000 53 1,100,000

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
P = ENCEDN :05. -14-14- . — HFTEFE (KFH)
i lgl1a| 7LF 1452 6 R 2(0_5)5 14-14-14-11{ 37.3 4 22) gg%ﬂ
R:74H0 B:a-—Onx Yriva B
N N EEE A .06. N ) — R (K3H)
1—QOE—k > 6 e 2(0;3)1 5-5-4-3 | 38.9 5 (5+438) £l
R:ZZAvLR B:xyATNRy b X YOS
. o4 | BIRER 2:06.2 13-13-12- . - B (fAtS)
Z2aANILH g 54.0 (3/4) 110 %83 ’ lzg? AER
LYY RG4TFR BiL—TRTTLN EAS
RN FHEE :06. -12-0- . — EEE—FE (ffE)
EDNT IR e R | BT o lemEa
L:AAvgyF B:AyIATU)— WA BR
SRy 4 6 | I3 2:06.7 2-2-1-1 [39.9| — 7 493 | EHEE (kH)
LYo *x2TH— 54.0 (1 3/4) 8) ﬁﬁé?\’ﬁx (*%)
L:xrinMaO— B:SXART7YIq> ElSirie]
R SEER .07. Q19— . — NARE GaFn)
het>T L X 4 8 ey 2(027)1 10-9-12-13 | 39.2 3 (4+756) '%””%é
LT RIAY KL B:iL—2 J—HrIr—L
s= = . HEEXEH :07. -8-8- . - BEAEE (KH)
ols] o 7551y wo | a8 N Rl A I R L=
R:77)—h B:4x¥OTLRb AT O%s
N HEIBThIR : ~15-15- — HFEZFE (KH)
slglis| NTFR rE—I 5 e (21.017/.;1) 15-15-15-14| 39.2 14 (5_314) Tﬁl:l%ﬂ\
T4V YT BEAFA RH—1 =7 Ui
T . i o6 | tAAKEE 2:07.5 3-3-32 |40.5| — 13 | 496 | Mz (KH)
91712/ 7> hZHEY 54.0 (1/2) (-5) | TS
RigZ/¥LLy b BHLF-IqO-—> () #BEA-FKL—va>AET7
s et :07. —6-6- . - =RAE— (&)
10 A PE v H o4 s 2(/(\);;5 6-6-6-8 | 40.1 1 (4_934) SRR
R:BALIST Ry 7R B I7oA—5 FRESS
. T EBH : ~11-7- — HEAN (fof5)
1 3| Ao RHN—7 i 5 B2 2(.10/72.>6 10-11-7-7 | 40.2 11 (4_536) =T
LBALINT Ry IR B:xFHRALIOF BEAYIS
> ] 4 6 | BIHEXS 2:08.2 4-4-4-5 |41.0| — 8 505 | /NARE (D)
12|58 | b—t>H¥3Iv b 54.0 @) o) | BlIER
VLR YIYRIR BRATAT—X J—HLTp—L
i s # o9 | REEE 2:08.4 9-9-11-11 | 40.5| — 15 | 501 |FkEHFE (KIH)
13f7|13| 7t ——F 54.0 m Ly | EBHEE
RTVPA IR BTV TF—Z b HFASZREy K
o 5= 45 | HEEBK 2:10.0 1-1-2-4 | 43.0| — 6 513 | BEEIES (KH)
M 1 REZANZEE P2 57.0 @) ) | ) BrF-L—sry
R:T7RYAVYRY B:T7YRATH I« L VER WL EIN
e s FHfE— : -7-10- — BAKEL ()\HK)
R E e o7 o 2.(140).8 8-7-10-15 | 42.9 10 (i??) ;;EE}?%/\
LN=VT7514 B:NIWVET/ atiEse]
® I —F—EBIERL
13=7r= 6,4,12,8,2,7,9,1,13,(3,10) ,11,5,14,15
2= = 6,4,12,8,2,7,1,9,(10,13),3,11,5,14,15
Jol=5r= 4,6,12,(2,8),7,3,9,11,1,13,(5,10) ,14,15
40—+ — 4,12,2,6,(8,9),3,7,11,5,(13,14) ,10,15,1
[ JIN=3
H OB 14 1,170H 714K 2-14 2,260 % E 2-8 3,850 3EHE 2-5-14 65,750
8 B 14 320M 5-14 3,900 B 8-2 6,720M K31 14-2-5 414,980
2 350M 2-5 3,890 B E 2-14 7,410
5 810M B 14-2 16,390

ABICOVWTRDTEEERROODE. TR LIV,




